

### See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



### Form **990-PF** Department of the Treasury

### EXTENDED TO FEBRUARY 16, 2 Return of Private Foundation

or Section 4947(a)(1) Trust Treated as Private Foundation

Do not enter social security numbers on this form as it may be made public. Information about Form 990-PF and its separate instructions is at www.irs.gov/form990pf. OMB No 1545-0052

Internal Revenue Service For calendar year 2014 or tax year beginning JUL 1, 2014 and ending JUN 30, 2015 Name of foundation A Employer identification number 33-1013781 THEODORE A. RAPP FOUNDATION Number and street (or P O box number if mail is not delivered to street address) Room/suite B Telephone number C/O M. ADAME, 514 INDIAN FIELD RD 203-661-2474 City or town, state or province, country, and ZIP or foreign postal code C If exemption application is pending, check here GREENWICH, CT 06830 G Check all that apply: Initial return Initial return of a former public charity D 1 Foreign organizations, check here Final return Amended return 2. Foreign organizations meeting the 85% test, check here and attach computation Address change Name change H Check type of organization: X Section 501(c)(3) exempt private foundation E If private foundation status was terminated Section 4947(a)(1) nonexempt charitable trust Other taxable private foundation under section 507(b)(1)(A), check here i Fair market value of all assets at end of year | J | Accounting method: X Cash If the foundation is in a 60-month termination (from Part II, col (c), line 16) Other (specify) under section 507(b)(1)(B), check here 4,441,531. (Part I, column (d) must be on cash basis) ▶\$ Part I | Analysis of Revenue and Expenses (d) Disbursements for charitable purposes (cash basis only) (a) Revenue and (b) Net investment (c) Adjusted net (The total of amounts in columns (b), (c), and (d) may not necessarily equal the amounts in column (a)) expenses per books income income 85,000 N/A Contributions, gifts, grants, etc., received 2 Check if the foundation is not required to attach Sch. B. Interest on savings and temporary cash investments 3,634 3,634 STATEMENT 77,160. 77.160. 4 Dividends and interest from securities STATEMENT 5a Gross rents b Net rental income or (loss) -168,293RECEIVED 6a Net gain or (loss) from sale of assets not on line 10 SCANNED DEC 1 4 2015 b Gross sales price for all assets on line 6a 277,016. S 0. 7 Capital gain net income (from Part IV, line 2) ω <del>ÿ</del> DEC 1 9 JUIS 8 Net short-term capital gain Q. Income modifications 10a Gross sales less returns and allowances OGDEN 117 b Less Cost of goods sold c Gross profit or (loss) 11 Other income 688. 688 STATEMENT 811. 81 482 Total, Add lines 1 through 11 9,000. 9,000. Compensation of officers, directors, trustees, etc 14 Other employee salaries and wages 15 Pension plans, employee benefits 16a Legal fees 8,063. STMT 4 8,063. 0. **b** Accounting fees c Other professional fees and Administrative 17 Interest 4,015. 0. 4,015. 18 Taxes STMT 5 19 Depreciation and depletion 20 Occupancy 21 Travel, conferences, and meetings 22 Printing and publications 1,085. STMT 6 1,086. 0. 23 Other expenses 24 Total operating and administrative 22,164 0 22,163. expenses. Add lines 13 through 23 363,800. 363,800. 25 Contributions, gifts, grants paid 26 Total expenses and disbursements. 385,964 0 385,963. Add lines 24 and 25 27 Subtract line 26 from line 12: -387,775 a Excess of revenue over expenses and disbursements 81,482 b Net investment income (if negative, enter -0-) N/A c Adjusted net income (if negative, enter -0-)

LHA For Paperwork Reduction Act Notice, see instructions.

THEODORE A. RAPP FOUNDATION

33-1013781

Page 2

Form **990-PF** (2014)

Form 990-PF (2014)

If line 8 is equal to or greater than line 7, check the box in Part VI, line 1b, and complete that part using a 1% tax rate.

See the Part VI instructions.

	1990-PF (2014) THEODORE A. RAPP FOUNDATION		<u>013/8</u>			'age 4
	art VI Excise Tax Based on Investment Income (Section 4940(a), 4940(b), 4940(e), or 4	940 - 3	see insi	ruc	tior	15)
1a	Exempt operating foundations described in section 4940(d)(2), check here \( \bigs \) and enter "N/A" on line 1.	1 1				
	Date of ruling or determination letter: (attach copy of letter if necessary-see instructions)				0	4 -
b	Domestic foundations that meet the section 4940(e) requirements in Part V, check here 🕨 🗶 and enter 1%	1			8.	<u> 15.</u>
	of Part I, line 27b	1 1				
	All other domestic foundations enter 2% of line 27b. Exempt foreign organizations enter 4% of Part I, line 12, col. (b).					_
	Tax under section 511 (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-)	2				<u>0.</u>
3	Add lines 1 and 2	3			8	<u>15.</u>
4	Subtitle A (income) tax (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-)	4				0.
5	Tax based on investment income. Subtract line 4 from line 3. If zero or less, enter -0-	5			8	<u> 15.</u>
6	Credits/Payments:					
	2014 estimated tax payments and 2013 overpayment credited to 2014  6a 2,552.					
	Exempt foreign organizations - tax withheld at source					
	Tax paid with application for extension of time to file (Form 8868)					
	Backup withholding erroneously withheld	.		_	_	
	Total credits and payments. Add lines 6a through 6d	7			, 5	<u>52.</u>
	Enter any penalty for underpayment of estimated tax. Check here if Form 2220 is attached	8				
	Tax due If the total of lines 5 and 8 is more than line 7, enter amount owed	9				
	Overpayment. If line 7 is more than the total of lines 5 and 8, enter the amount overpaid	10		1	<u>.,7</u>	<u>37.</u>
	Enter the amount of line 10 to be: Credited to 2015 estimated tax	11				<u>0.</u>
	art VII-A Statements Regarding Activities		<del></del>			NI -
1a	During the tax year, did the foundation attempt to influence any national, state, or local legislation or did it participate or intervene	ın	-		res	No
	any political campaign?	_	1	_		<u>X</u>
b	Did it spend more than \$100 during the year (either directly or indirectly) for political purposes (see instructions for the definition		1	<b>b</b>		<u>X</u>
	If the answer is "Yes" to 1a or 1b, attach a detailed description of the activities and copies of any materials publish	ed or				
	distributed by the foundation in connection with the activities			1	l	
C	Did the foundation file Form 1120-POL for this year?		1	c		<u> </u>
d	Enter the amount (if any) of tax on political expenditures (section 4955) imposed during the year:				į	
	(1) On the foundation. ► \$ 0. (2) On foundation managers. ► \$ 0.			- 1	ļ	
е	Enter the reimbursement (if any) paid by the foundation during the year for political expenditure tax imposed on foundation			-	ŀ	
	managers. ► \$O.			-	- 1	
2	Has the foundation engaged in any activities that have not previously been reported to the IRS?		2	<u>!</u>		<u>X</u>
	If "Yes," attach a detailed description of the activities.			- 1	i	
3	Has the foundation made any changes, not previously reported to the IRS, in its governing instrument, articles of incorporation,	or		-	- 1	
	bylaws, or other similar instruments? If "Yes," attach a conformed copy of the changes		3	<u> </u>		<u> </u>
4a	Did the foundation have unrelated business gross income of \$1,000 or more during the year?		4.			<u>X</u>
	If "Yes," has it filed a tax return on <b>Form 990-T</b> for this year?	N/	A 4	<b>b</b>		
5	Was there a liquidation, termination, dissolution, or substantial contraction during the year?		5	<u>;                                    </u>		<u>X</u>
	If "Yes," attach the statement required by General Instruction T.				-	
6	Are the requirements of section 508(e) (relating to sections 4941 through 4945) satisfied either:				1	
	By language in the governing instrument, or				İ	
	• By state legislation that effectively amends the governing instrument so that no mandatory directions that conflict with the state	e law				
	remain in the governing instrument?		6	<u> </u>	X	
7	Did the foundation have at least \$5,000 in assets at any time during the year? If "Yes," complete Part II, col. (c), and Part XV	/	7	<u>'</u>	X	
8a	Enter the states to which the foundation reports or with which it is registered (see instructions)					
	CT					
b	If the answer is "Yes" to line 7, has the foundation furnished a copy of Form 990-PF to the Attorney General (or designate)					
	of each state as required by General Instruction G? If "No," attach explanation		8	b	X	
9	Is the foundation claiming status as a private operating foundation within the meaning of section 4942(j)(3) or 4942(j)(5) for calc	endar				
	year 2014 or the taxable year beginning in 2014 (see instructions for Part XIV)? If "Yes," complete Part XIV		9			<u>X</u>
10	Did any persons become substantial contributors during the tax year? If "Yes," attach a schedule listing their names and addresses		11	0		X

_	350 T (2014) THEODORE A. RAFF FOUNDATION 33 TOT.	701		ayo
	rt VII-A Statements Regarding Activities (continued)	т —		
11	At any time during the year, did the foundation, directly or indirectly, own a controlled entity within the meaning of	1 1		37
	section 512(b)(13)? If "Yes," attach schedule (see instructions)	11		<u> X</u>
12	Did the foundation make a distribution to a donor advised fund over which the foundation or a disqualified person had advisory privileges?			
	If "Yes," attach statement (see instructions)	12		X
13	Did the foundation comply with the public inspection requirements for its annual returns and exemption application?	13	X	
	Website address ► N/A	71 2	47A	
14	The books are in care of MARGARET ADAME  Telephone no. 203-60		4/4	
	Located at ► 514 INDIAN FIELD RD, GREENWICH, CT ZIP+4 ►00	0030	_	
15	Section 4947(a)(1) nonexempt charitable trusts filing Form 990-PF in lieu of Form 1041 - Check here	NT.	/ <b>&gt;</b>	
40	and enter the amount of tax-exempt interest received or accrued during the year  15	1//	/A Yes	No
16	At any time during calendar year 2014, did the foundation have an interest in or a signature or other authority over a bank,	1 40	103	X
	securities, or other financial account in a foreign country?	16		Α
	See the instructions for exceptions and filing requirements for FinCEN Form 114, (formerly TD F 90-22.1). If "Yes," enter the name of the	İ		
Da	foreign country ►  Int VII-B   Statements Regarding Activities for Which Form 4720 May Be Required	.J		
1 6			Yes	No
۵.	File Form 4720 if any item is checked in the "Yes" column, unless an exception applies.		163	110
18	During the year did the foundation (either directly or indirectly):  (1) Engage in the sale or exchange, or leasing of property with a disqualified person?  Yes X No			
	(2) Borrow money from, lend money to, or otherwise extend credit to (or accept it from) a disqualified person?  Yes X No			
	(5) Transfer any income or assets to a disqualified person (or make any of either available for the benefit or use of a disqualified person)?  Yes X No			
	(6) Agree to pay money or property to a government official? (Exception. Check "No"			
	If the foundation agreed to make a grant to or to employ the official for a period after termination of government service, if terminating within 90 days.)  Yes X No			
_				
0	If any answer is "Yes" to 1a(1)-(6), did <b>any</b> of the acts fail to qualify under the exceptions described in Regulations section 53.4941(d)-3 or in a current notice regarding disaster assistance (see instructions)?	1b		Х
	Organizations relying on a current notice regarding disaster assistance check here			
	Did the foundation engage in a prior year in any of the acts described in 1a, other than excepted acts, that were not corrected			
·	before the first day of the tax year beginning in 2014?	10		X
2	Taxes on failure to distribute income (section 4942) (does not apply for years the foundation was a private operating foundation			
۷	defined in section 4942(j)(3) or 4942(j)(5)):			
9	At the end of tax year 2014, did the foundation have any undistributed income (lines 6d and 6e, Part XIII) for tax year(s) beginning			
u	before 2014?			
	If "Yes," list the years \			
h	Are there any years listed in 2a for which the foundation is <b>not</b> applying the provisions of section 4942(a)(2) (relating to incorrect			:
Ī	valuation of assets) to the year's undistributed income? (If applying section 4942(a)(2) to all years listed, answer "No" and attach			
	statement - see instructions.)  N/A	2b		
C	If the provisions of section 4942(a)(2) are being applied to any of the years listed in 2a, list the years here.			
•	<b>&gt;</b>			
3a	Did the foundation hold more than a 2% direct or indirect interest in any business enterprise at any time			
•	during the year?			
b	If "Yes," did it have excess business holdings in 2014 as a result of (1) any purchase by the foundation or disqualified persons after			
•	May 26, 1969; (2) the lapse of the 5-year period (or longer period approved by the Commissioner under section 4943(c)(7)) to dispose			
	of holdings acquired by gift or bequest; or (3) the lapse of the 10-, 15-, or 20-year first phase holding period? (Use Schedule C,			
	Form 4720, to determine if the foundation had excess business holdings in 2014.)  N/A	3b		
4a	Did the foundation invest during the year any amount in a manner that would jeopardize its charitable purposes?	4a		X
	Did the foundation make any investment in a prior year (but after December 31, 1969) that could jeopardize its charitable purpose that			
_	had not been removed from jeopardy before the first day of the tax year beginning in 2014?	4b		X

Form **990-PF** (2014

Total number of other employees paid over \$50,000

orm 990-PF (2014) THEODORE A. RAPP FOUNDATION	33-10	013781 Page 7
Part VIII Information About Officers, Directors, Trustees, Foundat Paid Employees, and Contractors (continued)	ion Managers, Highly	
3 Five highest-paid independent contractors for professional services. If none, enter	"NONE."	
(a) Name and address of each person paid more than \$50,000	(b) Type of service	(c) Compensation
NONE		
Total number of others receiving over \$50,000 for professional services		▶ 0
Part IX-A Summary of Direct Charitable Activities		
List the foundation's four largest direct charitable activities during the tax year. Include relevant statistic number of organizations and other beneficiaries served, conferences convened, research papers produced.	cal information such as the iced, etc.	Expenses
NOT APPLICABLE		
		0.
•		
Part IX-B   Summary of Program-Related Investments		
Describe the two largest program-related investments made by the foundation during the tax year on li	nes 1 and 2.	Amount
NOT APPLICABLE		
		0.
All other program-related investments. See instructions.		

Total. Add lines 1 through 3

Part X Minimum Investment Return (All domestic foundations must complete this part. Foreign foundations, see instructions.) Fair market value of assets not used (or held for use) directly in carrying out charitable, etc., purposes: 4,089,599. a Average monthly fair market value of securities 1a 1b 329,829. b Average of monthly cash balances c Fair market value of all other assets 10 4,419,428. 1d d Total (add lines 1a, b, and c) e Reduction claimed for blockage or other factors reported on lines 1a and 0. 1c (attach detailed explanation) 1e Acquisition indebtedness applicable to line 1 assets 2 4,4193 Subtract line 2 from line 1d 66,291 Cash deemed held for charitable activities. Enter 1 1/2% of line 3 (for greater amount, see instructions) 4 ,353,137. 5 Net value of noncharitable-use assets. Subtract line 4 from line 3. Enter here and on Part V, line 4 217,657 Minimum investment return Enter 5% of line 5 Part XI Distributable Amount (see instructions) (Section 4942(j)(3) and (j)(5) private operating foundations and certain foreign organizations check here 
and do not complete this part.) 217,657. Minimum investment return from Part X, line 6 815. Tax on investment income for 2014 from Part VI, line 5 b Income tax for 2014. (This does not include the tax from Part VI.) c Add lines 2a and 2b 2c 216.842 3 Distributable amount before adjustments. Subtract line 2c from line 1 4 Recoveries of amounts treated as qualifying distributions 216,842. Add lines 3 and 4 5 6 Deduction from distributable amount (see instructions) Distributable amount as adjusted. Subtract line 6 from line 5. Enter here and on Part XIII, line 1 7 216,842. Qualifying Distributions (see instructions) Amounts paid (including administrative expenses) to accomplish charitable, etc., purposes: 385,963. a Expenses, contributions, gifts, etc. - total from Part I, column (d), line 26 1a 1b b Program-related investments - total from Part IX-B 2 Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc., purposes Amounts set aside for specific charitable projects that satisfy the: a Suitability test (prior IRS approval required) 3a 3b **b** Cash distribution test (attach the required schedule) 385,963. Qualifying distributions. Add lines 1a through 3b. Enter here and on Part V, line 8, and Part XIII, line 4 4 Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment 815. 5 income. Enter 1% of Part I, line 27b Adjusted qualifying distributions Subtract line 5 from line 4 385,148. 6 Note The amount on line 6 will be used in Part V, column (b), in subsequent years when calculating whether the foundation qualifies for the section

Form **990-PF** (2014)

4940(e) reduction of tax in those years.

Part XIII Undistributed Income (see instructions)

	(a) Corpus	(b) Years prior to 2013	(c) 2013	( <b>d)</b> 2014
Distributable amount for 2014 from Part XI,				
line 7				216,842.
2 Undistributed income, if any, as of the end of 2014				
a Enter amount for 2013 only			0.	
<b>b</b> Total for prior years:				
3 Excess distributions carryover, if any, to 2014:		0.		
a From 2009				
<b>b</b> From 2010				
c From 2011			'	
d From 2012				
e From 2013 5,629.				
f Total of lines 3a through e	5,629.		,	
4 Qualifying distributions for 2014 from	370231			
Part XII, line 4: ►\$ 385, 963.				
a Applied to 2013, but not more than line 2a			0.	
b Applied to undistributed income of prior				
years (Election required - see instructions)		0.		
c Treated as distributions out of corpus			.,	
(Election required - see instructions)	0.			
d Applied to 2014 distributable amount				216,842.
e Remaining amount distributed out of corpus	169,121.			
5 Excess distributions carryover applied to 2014 (If an amount appears in column (d), the same amount must be shown in column (a))	0.			0.
6 Enter the net total of each column as indicated below:				
a Corpus Add lines 3f, 4c, and 4e Subtract line 5	174,750.			
<b>b</b> Prior years' undistributed income. Subtract				
line 4b from line 2b		0.		
c Enter the amount of prior years' undistributed income for which a notice of deficiency has been issued, or on which				
the section 4942(a) tax has been previously assessed		0.		
d Subtract line 6c from line 6b. Taxable		_		
amount - see instructions		0.		
e Undistributed income for 2013. Subtract line				
4a from line 2a. Taxable amount - see instr.			0.	
f Undistributed income for 2014. Subtract				
lines 4d and 5 from line 1. This amount must				_
be distributed in 2015				0.
7 Amounts treated as distributions out of				
corpus to satisfy requirements imposed by				
section 170(b)(1)(F) or 4942(g)(3) (Election may be required - see instructions)	0.			
8 Excess distributions carryover from 2009				<u></u>
not applied on line 5 or line 7	0.			
9 Excess distributions carryover to 2015.		<del></del>		<del> </del>
Subtract lines 7 and 8 from line 6a	174,750.			,
10 Analysis of line 9:				
a Excess from 2010				
b Excess from 2011				
c Excess from 2012				
d Excess from 2013 5,629.				
e Excess from 2014 169,121.				
423581 11-24-14				Form <b>990-PF</b> (2014)

	E A. RAPP F		U A		13781 Page 10
Part XIV   Private Operating F			II-A, question 9)	N/A	
1 a If the foundation has received a ruling o					
foundation, and the ruling is effective for		•	un contion	4942(j)(3) or 49	942(j)(5)
b Check box to indicate whether the found		g roundation described	Prior 3 years		]
2 a Enter the lesser of the adjusted net	Tax year (a) 2014	(b) 2013	(c) 2012	(d) 2011	(e) Total
income from Part I or the minimum	(8) 2014	(0) 2010	(0) 2012	(0) 2011	(0) 10141
investment return from Part X for					
each year listed					
<ul> <li>b 85% of line 2a</li> <li>c Qualifying distributions from Part XII,</li> </ul>			<del></del> -	-	
line 4 for each year listed					
d Amounts included in line 2c not				-	
used directly for active conduct of					
exempt activities					•
e Qualifying distributions made directly					
for active conduct of exempt activities.					
Subtract line 2d from line 2c					
3 Complete 3a, b, or c for the		-			
alternative test relied upon:  a "Assets" alternative test - enter:					
(1) Value of all assets					
(2) Value of assets qualifying					
under section 4942(j)(3)(B)(i)					
b "Endowment" alternative test - enter 2/3 of minimum investment return	}				
shown in Part X, line 6 for each year listed					
c "Support" alternative test - enter:					
(1) Total support other than gross					
investment income (interest,					
dividends, rents, payments on securities loans (section					
512(a)(5)), or royalties)					
(2) Support from general public and 5 or more exempt					
organizations as provided in					•
section 4942(j)(3)(B)(iii)					
(3) Largest amount of support from					
an exempt organization					
(4) Gross investment income  Part XV   Supplementary Info	rmation (Comple	te this part only	if the foundation	n had \$5 000 or m	ore in assets
at any time during t	•	•	ii die iodiladio	π παα φο,οοο οι πι	010 111 000010
1 Information Regarding Foundation	on Managers:				
a List any managers of the foundation wh	no have contributed more t		tributions received by th	ne foundation before the clo	se of any tax
year (but only if they have contributed r	nore than \$5,000). (See se	ection 507(d)(2).)			
OMAR R. ADAME					
b List any managers of the foundation who other entity) of which the foundation ha			(or an equally large por	tion of the ownership of a p	artnership or
NONE	•				
2 Information Regarding Contribut	ion, Grant, Gift, Loan.	Scholarship, etc., P	rograms:		•
			-	not accept unsolicited requ	uests for funds. If
the foundation makes gifts, grants, etc.	(see instructions) to indiv	iduals or organizations	under other conditions,	complete items 2a, b, c, an	d d.
a The name, address, and telephone num	iber or e-mail address of th	he person to whom app	lications should be addr	essed:	
MARGARET ADAME, 203-					
514 INDIAN FIELD RD,					
b The form in which applications should to				D.T. D.T. T. OD.C.	NITERMITON
THE APPLICANT MUST V	EKIFY THAT	IT IS A QUA	FUTETED CHY	KITABLE OKGA	INT ZATION.
c Any submission deadlines: NONE					
d Any restrictions or limitations on award	s, such as by geographica	Il areas, charitable fields	, kinds of institutions, o	r other factors:	
NONE	25 0,		, -		

3 Grants and Contributions Paid During the	Year or Approved for Future	Payment		
Recipient	If recipient is an individual,	Foundation	Purpose of grant or	
Name and address (home or business)	show any relationship to any foundation manager or substantial contributor	status of	Purpose of grant or contribution	Amount
	or substantial contributor	recipient		
a Paid during the year				
		<u></u>		
THE SCHOOL OF AMERICAN BALLET	N/A	N/A	SUPPORT OF	
70 LINCOLN CENTER PLAZA		1	ORGANIZATION	3 700
NEW YORK, NY 10023				3,700
MONTEFIORE MEDICAL CENTER	N/A	N/A	SUPPORT OF	
111 EAST 210TH STREET			ORGANIZATION	
BRONX, NY 10467				50,000
				•
DOCTORS WITHOUT BORDERS	N/A	N/A	SUPPORT OF	
333 7TH AVENUE			ORGANIZATION	
NEW YORK, NY 10001				35,000
MICHAEL J. FOX FOUNDATION	N/A	N/A	SUPPORT OF	
GRAND CENTRAL STATION, PO BOX 4777			ORGANIZATION	
NEW YORK, NY 10163				55,000
WEWORTH GLOSN REMERRING GANGER	N/A	N/A	SUPPORT OF	
MEMORIAL SLOAN-KETTERING CANCER	N/A	N/A	ORGANIZATION	
CENTER			ORGANIZATION	
1275 YORK AVENUE NEW YORK, NY 10065			1	50,000
	NTINUATION SHE	· የጥ(S)	<b>▶</b> 3a	363,800
b Approved for future payment				303,000
- pp				
		İ		
NONE				
			1	
			1	
			1	
	-			
			}	

Part XVI-A **Analysis of Income-Producing Activities** 

Enter gross amounts unless otherwise indicated.	Unrelate	ed business income	Exclu	ded by section 512, 513, or 514	(e)
	(a) Business	(b) Amount	Exclu- sion code	(d) Amount	Related or exempt function income
1 Program service revenue:	code		code	741100111	- Tariotion income
a					
b					
c			ļ		
d					
e					
g Fees and contracts from government agencies		<u></u>			
2 Membership dues and assessments			Ì		<del></del>
3 Interest on savings and temporary cash			1 4	2 (24	
Investments			14 14		
4 Dividends and interest from securities			14	//,160.	
5 Net rental income or (loss) from real estate:					
a Debt-financed property					
b Not debt-financed property			ļ		
6 Net rental income or (loss) from personal					
property			1.0	600	
7 Other investment income	ļ		16	688.	
8 Gain or (loss) from sales of assets other			10	160 000	
than inventory			18	-168,293.	
9 Net income or (loss) from special events					
10 Gross profit or (loss) from sales of inventory	<u> </u>				
11 Other revenue:					
<u>a</u>					
b					
<u> </u>					
d			-		
e			-	0.011	
12 Subtotal. Add columns (b), (d), and (e)	L	0.		-86,811.	0.
13 Total. Add line 12, columns (b), (d), and (e)				13	-86,811.
(See worksheet in line 13 instructions to verify calculations.)					· · · · · · · · · · · · · · · · · · ·
Part XVI-B Relationship of Activities to	the Acc	omplishment of Ex	emp	t Purposes	
Line No. Explain below how each activity for which income the foundation's exempt purposes (other than be			contrit	outed importantly to the accom	nplishment of
NOT APPLICABLE	y providing id	nas for sauti parpossoj.			
NOI APPLICABLE					
				· · · · · · · · · · · · · · · · · · ·	
				·	
	· · · · · ·				<del></del>
	<del> </del>			·	

14) THEODORE A. RAPP FOUNDATION 33-1013781
Information Regarding Transfers To and Transactions and Relationships With Noncharitable Exempt Organizations

<b>1</b> D	d the or	ganızatıon directly or indir	rectly engage in any o	of the followin	g with any other organization	on described in sec	tion 501(c) of		Yes	No
th	e Code (	other than section 501(c)	)(3) organizations) or	r in section 52	7, relating to political organ	nizations?				
a Tr	ansfers	from the reporting founda	ation to a noncharitat	ole exempt org	ganization of:					
(1	) Cash							1a(1)		_X_
(2	) Other	assets						1a(2)		X
<b>b</b> 01	ther tran	sactions:						,		
(1	) Sales	of assets to a noncharitat	ble exempt organizat	ION				1b(1)		<u>X</u>
(2	!) Purch	nases of assets from a nor	ncharitable exempt o	rganization				1b(2)		X X
(3	) Renta	ll of facilities, equipment, o	or other assets					1b(3)		<u>X</u>
(4	) Reimi	bursement arrangements						1b(4)		<u>X</u>
(5	) Loans	s or loan guarantees						1b(5)		X
(6	) Perfo	rmance of services or mei	mbership or fundrais	sing solicitatio	ns			1b(6)		<u> </u>
		f facilities, equipment, mai	- :		•			1c		X
d If	the ansv	ver to any of the above is '	"Yes," complete the f	ollowing sche	dule. Column (b) should alv	ways show the fair	market value of the goods, ot	her ass	ets,	
					ed less than fair market valu	ue in any transactio	n or sharing arrangement, sh	ow in		
CC		) the value of the goods, o								
a) Line	no	(b) Amount involved	(c) Name of	noncharitable	exempt organization	(d) Description	n of transfers, transactions, and sh	aring an	angeme	nts
				N/A						
						·				
					···					
					· · · · · · · · · · · · · · · · · · ·					
2a Ic	the four	l Idation directly or indirect	thy affiliated with or r	elated to one	or more tax-exempt organi	rations described				
		501(c) of the Code (other	-		· -	zalions described		Yes	Y	] No
		omplete the following sche		(3)) 01 111 3661	1011 327 *		L	7 163	نمک ا	7 140
וו ט	165, 66	(a) Name of orga			(b) Type of organization	Ι	(c) Description of relationship	n		
		N/A	anzation		(b) Type of organization		(b) Beserphen or relationship	<u> </u>		
		N/A					<del></del>			
		<del>.</del>								
				-						
										<del></del>
	Under	penalties of periuny. I declare t	that I have examined the	s return, includin	g accompanying schedules and	statements and to the	best of my knowledge			
Sign	4-4-				taxpayer) is based on all inform		May 1	the IRS o	iscuss t	his er
Here			<b>/</b> •		12/4/15	WD11GM	show	n below	(see insi	tr )?
		lature of officer or trustee			<del></del>	Title	<u></u>	Yes	L	J No
	Sign			Dranarasia au	Date	,	Check If PTIN			
		Print/Type preparer's na	.inc	Preparer's si	ynature	Date				
Paid	1	DD T 1 1 2 2	WINDING /	1	<del>Z</del> /1·	12/4/15	self- employed	270	020	
_		BRIAN E. S					P01			
-	oarer	Firm's name ► WIL:	LIAM H. P.	ARR &	COMPANY, LLP	1	Firm's EIN ► 06 – 07	2/4	29	
USE	Only									
		Firm's address > 38								
		DA	RIEN, CT	<u>06820</u>			Phone no. 203-65			
							For	m <b>99</b> 0	PF	(2014)

### Schedule B

(Form 990, 990-EZ, or 990-PF)

Department of the Treasury Internal Revenue Service

### **Schedule of Contributors**

➤ Attach to Form 990, Form 990-EZ, or Form 990-PF.

Information about Schedule B (Form 990, 990-EZ, or 990-PF) and its instructions is at www.lrs.gov/form990.

OMB No 1545-0047

2014

Name of the organization **Employer identification number** 33-1013781 THEODORE A. RAPP FOUNDATION Organization type (check one): Filers of: Section: 501(c)( Form 990 or 990-EZ ) (enter number) organization 4947(a)(1) nonexempt charitable trust not treated as a private foundation 527 political organization Form 990-PF 501(c)(3) exempt private foundation 4947(a)(1) nonexempt charitable trust treated as a private foundation 501(c)(3) taxable private foundation Check if your organization is covered by the General Rule or a Special Rule. Note. Only a section 501(c)(7), (8), or (10) organization can check boxes for both the General Rule and a Special Rule See instructions General Rule For an organization filing Form 990, 990-EZ, or 990-PF that received, during the year, contributions totaling \$5,000 or more (in money or property) from any one contributor. Complete Parts I and II. See instructions for determining a contributor's total contributions. **Special Rules** For an organization described in section 501(c)(3) filing Form 990 or 990-EZ that met the 33 1/3% support test of the regulations under sections 509(a)(1) and 170(b)(1)(A)(vi), that checked Schedule A (Form 990 or 990 EZ), Part II, line 13, 16a, or 16b, and that received from any one contributor, during the year, total contributions of the greater of (1) \$5,000 or (2) 2% of the amount on (i) Form 990, Part VIII, line 1h, or (ii) Form 990-EZ, line 1 Complete Parts I and II. For an organization described in section 501(c)(7), (8), or (10) filing Form 990 or 990-EZ that received from any one contributor, during the year, total contributions of more than \$1,000 exclusively for religious, charitable, scientific, literary, or educational purposes, or for the prevention of cruelty to children or animals. Complete Parts I, II, and III. For an organization described in section 501(c)(7), (8), or (10) filing Form 990 or 990-EZ that received from any one contributor, during the year, contributions exclusively for religious, charitable, etc., purposes, but no such contributions totaled more than \$1,000 If this box is checked, enter here the total contributions that were received during the year for an exclusively religious, charitable, etc., purpose Do not complete any of the parts unless the General Rule applies to this organization because it received nonexclusively

Caution. An organization that is not covered by the General Rule and/or the Special Rules does not file Schedule B (Form 990, 990-EZ, or 990-PF), but it must answer "No" on Part IV, line 2, of its Form 990, or check the box on line H of its Form 990-EZ or on its Form 990-PF, Part I, line 2, to certify that it does not meet the filing requirements of Schedule B (Form 990, 990-EZ, or 990-PF).

religious, charitable, etc., contributions totaling \$5,000 or more during the year

LHA For Paperwork Reduction Act Notice, see the Instructions for Form 990, 990-EZ, or 990-PF. Schedule B (Form 990, 990-EZ, or 990-PF) (2014)

Name of organization

Employer identification number

### THEODORE A. RAPP FOUNDATION

33-1013781

Part I	Contributors (see instructions) Use duplicate copies of Part I if addition	al space is needed	
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
1	ESTATE OF THEODORE A. RAPP  C/O ADAME, 514 INDIAN FIELD RD  GREENWICH, CT 06830	\$85,000.	Person X Payroll
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
		\$	Person Payroll Noncash (Complete Part II for noncash contributions)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
		\$	Person Payroll Noncash (Complete Part II for noncash contributions)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
		\$	Person Payroll Noncash (Complete Part II for noncash contributions)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
		\$	Person Payroll Noncash (Complete Part II for noncash contributions.)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
		\$	Person Payroll Noncash (Complete Part II for noncash contributions.)

Employer identification number

### THEODORE A. RAPP FOUNDATION

33-1013781

Part II	art II if additional space is needed		
(a) No. from Part I	(b)  Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
		\$	
(a) No. from Part I	(b)  Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
		<b></b>   \$	
(a)			
No. from Part I	(b)  Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
		*	
(a) No. from Part I	(b)  Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
		\ \$	
(a) No. from Part I	(b)  Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
—		<u> </u>	
		\$	
(a) No. from	(b)  Description of noncash property given	(c) FMV (or estimate)	(d) Date received
Part I		(see instructions)	
453 11-05-	14	Schodula P /Form	 990, 990-EZ, or 990-PF) (2

	(, 0,,,,	o, ooo,	0. 000.	. / \
	nization			

Employer identification number

	E. A. RAPP FOUNDATION  Exclusively religious, charitable, etc., conti the year from any one contributor. Complete c	ommos car incomon cerano ine i	mowina nne em	IIV. For organizations	
	completing Part III, enter the total of exclusively religious Use duplicate copies of Part III if additional	s, charitable, etc., contributions of \$1,00 al space is needed	0 or less for the ye	ear (Enter this info once)	<b>\$</b>
a) No. from Part I	(b) Purpose of gift	(c) Use of gift		(d) Descrip	tion of how gift is held
	Transferee's name, address, ar	(e) Transfer of		tionship of transf	eror to transferee
a) No. from Part I	(b) Purpose of gift	(c) Use of gift		(d) Descrip	tion of how gift is held
	Transferee's name, address, ar	(e) Transfer of		tionship of transf	eror to transferee
a) No. from Part I	(b) Purpose of gift	(c) Use of gift		(d) Descrip	tion of how gift is held
	Transferee's name, address, ar	(e) Transfer of ad ZIP + 4		tionship of transf	eror to transferee
a) No.	(b) Purpose of gift	(c) Use of gift		(d) Descrip	tion of how gift is held
		(e) Transfer of	gift		
	Transferee's name, address, an	nd ZIP + 4	Rela	tionship of transf	eror to transferee

FORM 990-PF INTERE	ST ON SAVINO	S AND T	EMPORA	RY CASH	INVESTMENTS	STATEMENT	1
SOURCE		RE	(A) VENUE BOOKS		(B) INVESTMENT INCOME	(C) ADJUSTE NET INCO	
KKR & CO LP MERRILL LYNCH			66 2,96	8. 6.	668. 2,966.		
TOTAL TO PART I, LI	NE 3		3,63	4.	3,634.		
FORM 990-PF	DIVIDENDS	AND INT	EREST	FROM SEC	URITIES	STATEMENT	2
SOURCE	GROSS AMOUNT	CAPIT. GAIN: DIVIDE	S	(A) REVENUE PER BOOK			TED
KKR & CO LP MERRILL LYNCH	1,260. 75,900.		0.	1,26 75,90			
TO PART I, LINE 4	77,160.		0.	77,16	0. 77,10	60.	
FORM 990-PF		OTHER	INCOM	Œ		STATEMENT	3
DESCRIPTION			REV	A) ENUE BOOKS	(B) NET INVEST- MENT INCOM		
KKR & CO LP - ORDIN INCOME KKR & CO LP - ROYAL KKR & CO LP - OTHER KKR & CO LP - NET R ESTATE INCOME	TIES INCOME	3		430. 41. 206.	4: 206	1.	
TOTAL TO FORM 990-P	F, PART I, I	LINE 11		688.	688	8.	

FORM 990-PF	ACCOUNTI	NG FEES		STATEMENT	4
DESCRIPTION	(A) EXPENSES PER BOOKS	(B) NET INVEST- MENT INCOME	(C) ADJUSTED NET INCOME	(D) CHARITAB PURPOSE	
ACCOUNTING FEES	8,063.	0.		8,06	3.
TO FORM 990-PF, PG 1, LN 16B	8,063.	0.		8,06	3.
FORM 990-PF	TAX	ES		STATEMENT	5
DESCRIPTION	(A) EXPENSES PER BOOKS	(B) NET INVEST- MENT INCOME	(C) ADJUSTED NET INCOME	(D) CHARITAB PURPOSE	
FOREIGN TAXES 2013 EXTENSION PAYMENT	815. 3,200.	0. 0.		81 3,20	
			•		
TO FORM 990-PF, PG 1, LN 18 =	4,015.	0.		4,01	5.
	4,015.			4,01 STATEMENT	
FORM 990-PF	· · · · · · · · · · · · · · · · · · ·		(C) ADJUSTED NET INCOME	STATEMENT (D) CHARITAB	6 LE
FORM 990-PF  DESCRIPTION  OTHER	OTHER E	XPENSES  (B)  NET INVEST-	ADJUSTED	STATEMENT (D) CHARITAB	6 LE S
TO FORM 990-PF, PG 1, LN 18  FORM 990-PF  DESCRIPTION  OTHER KKR & CO LP - DEDUCTIONS  TO FORM 990-PF, PG 1, LN 23	OTHER EXPENSES PER BOOKS	(B) NET INVEST- MENT INCOME	ADJUSTED	STATEMENT  (D)  CHARITAB PURPOSE	6 LE S 3.
FORM 990-PF  DESCRIPTION  OTHER  KKR & CO LP - DEDUCTIONS	OTHER E	(B) NET INVEST- MENT INCOME  0. 0.	ADJUSTED	STATEMENT  (D) CHARITAB PURPOSE  1 1,07	6 LE S 3.
FORM 990-PF  DESCRIPTION  OTHER  KKR & CO LP - DEDUCTIONS  TO FORM 990-PF, PG 1, LN 23	OTHER E	(B) NET INVEST- MENT INCOME  0. 0. 0.	ADJUSTED	CHARITAB PURPOSE 1 1,07	6 S 3. 2.
FORM 990-PF  DESCRIPTION  OTHER  KKR & CO LP - DEDUCTIONS  TO FORM 990-PF, PG 1, LN 23  FORM 990-PF	OTHER E	(B) NET INVEST- MENT INCOME  0. 0. E STOCK	ADJUSTED NET INCOME	STATEMENT  (D) CHARITAB PURPOSE  1,07  1,08  STATEMENT  FAIR MARKET	6 3.2.

FORM 990-PF CORPORATE BONDS		STATEMENT 8
DESCRIPTION	BOOK VALUE	FAIR MARKET VALUE
SEE ATTACHED SCHEDULE	65,000.	63,209.
TOTAL TO FORM 990-PF, PART II, LINE 10C	65,000.	63,209.

THEODORE A. RAPP FOUNDATION 33-1013781 PAGE OF Part IV | Capital Gains and Losses for Tax on Investment Income (b) How acquired (c) Date acquired (a) List and describe the kind(s) of property sold, e.g., real estate, (d) Date sold P - Purchase D - Donation 2-story brick warehouse; or common stock, 200 shs. MLC Co. (mo., day, yr.) (mo., day, yr.) ta 1,000 SHS PETRLEO BRAS VTG SPD ADR 11/08/07|12/05/14 b 1,000 SHS PETRLEO BRAS VTG SPD ADR P 11/28/0712/05/14 c 800 SHS PETRLEO BRAS VTG SPD ADR P 04/15/0812/05/14 d 1,500 SHS SILVER WHEATON CORP P 03/15/1112/05/14 e 500 SHS DIODES INC P 03/04/1412/05/14 f 500 SHS DIODES INC P 03/25/1412/05/14 05/30/0702/24/15 g 1,895 SHS CEMEX SAB DE CV SPND ADR P P h 633 SHS CEMEX SAB DE CV SPND ADR 01/29/0802/24/15 + 1,264 SHS CEMEX SAB DE CV SPND ADR P 05/12/0802/24/15 191 SHS CEMEX SAB DE CV SPND ADR P 06/09/0802/24/15 P 10/26/1002/24/15 k 3,509 SHS CEMEX SAB DE CV SPND ADR 1 308 SHS CEMEX SAB DE CV SPND ADR 02/02/1202/24/15 P 02/15/1202/24/15 m 500 SHS QUALCOMM INC P n 1,000 SHS MEDTRONIC INC Р 05/14/1301/27/15 o CEMEX - CASH IN LIEU P 05/12/15 (f) Depreciation allowed (a) Cost or other basis (h) Gain or (loss) (e) Gross sales price (or allowable) (e) plus (f) minus (g) plus expense of sale 8,606. 52,471 -43,865. а 8,606. 48,911. -40,305. b -41,529. 6,885. 48,414. C -28,159.31,471. 59,630. d 13,545. 12,494. 1,051. е 13,545. 13,088. 457. f 56,716. -37,566. 19,150. g 6,397. 13,018 -6,621. h 12,774. 28.789. -16,0<u>15.</u> 1 920. 1,695. -775. 35,461. 26,361. 9,100. k 2,126. 3,113. 987. m 35,199. 31,317. 3,882. 76,950. 50,279 26,671. n 10. 10. 0 Complete only for assets showing gain in column (h) and owned by the foundation on 12/31/69 (I) Losses (from col. (h)) Gains (excess of col. (h) gain over col. (k), (j) Adjusted basis (k) Excess of col. (i) (i) F.M.V. as of 12/31/69 but not less than "-0-") as of 12/31/69 over col. (j), if any -43,865. а -40,305. b -41,529. C <u>-28,159.</u> d 1,051. 457. f -37,566. g h -6,621. -16,015.-775. 9,100. k 987. 1 3,882. m 26,671. n 0

{ If gain, also enter in Part I, line 7 If (loss), enter "-0-" in Part I, line 7

2

Capital gain net income or (net capital loss)

If gain, also enter in Part I, line 8, column (c).

If (loss), enter "-0-" in Part I, line 8

Net short-term capital gain or (loss) as defined in sections 1222(5) and (6):

Part IV   Capital Gains and Lo	osses for Tax on Investment Income	e			
(a) List and 2-story b	d describe the kind(s) of property so rick warehouse; or common stock, 2	old, e.g., real estate, 200 shs. MLC Co.	(b) How acquired P - Purchase D - Donation	(c) Date acquired (mo., day, yr.)	(d) Date sold (mo., day, yr.)
1a KKR & CO LLP			P		
b KKR & CO LLP			P		
C					
d					
е					
f					
g					
h					
1					
1					
k					
1					
m					
n					
0					
(e) Gross sales price	(f) Depreciation allowed (or allowable)	(g) Cost or other basis plus expense of sale	(e) r	) Gain or (loss) plus (f) minus (g)	
a 64.					64.
4,320.		· · · · · · · · · · · · · · · · · · ·			4,320.
- <del> </del>					4,520
<u>с.                                    </u>		-		<del></del>	
0					
<u>,                                    </u>		-			
<u>.                                    </u>	<del></del>	<del> </del>			
y h		-			
				<u>.</u>	
	<del> </del>	<del> </del>			<del></del>
	1				
<u>к</u>			·		
<u> </u>	<del></del>				
n					
n					
O Complete anh for accets about	and a series of the series of	the foundation on 10/01/60	m !		
Complete only for assets snowl	ng gain in column (h) and owned by	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	(I) Los	sses (from col. (h)) of col. (h) gain ovei	col (k)
(i) F.M.V. as of 12/31/69	(j) Adjusted basis as of 12/31/69	(k) Excess of col. (i) over col. (j), if any	but n	ot less than "-0-")	coi. (k),
	as 01 12/5 1/03	Over col. ()), if any			<u> </u>
a				-	64.
b					4,320.
<u> </u>					
d					
e			-		
<u></u>					
9					
<u>h</u>					
1					
1					
k					
<u> </u>					
n					
n					
0					
Capital gain net income or (net c	apital loss) { If gain, also ente	er in Part I, line 7 -0-" in Part I, line 7	2		168,293.
	ss) as defined in sections 1222(5) a	_			
If (loce), enter "-0-" in Part I, line 8	, colullii (C). o	ŗ		NT / 7	

33-1013781 THEODORE A. RAPP FOUNDATION Part XV Supplementary Information Grants and Contributions Paid During the Year (Continuation) If recipient is an individual, Recipient Foundation Purpose of grant or show any relationship to Amount status of contribution any foundation manager Name and address (home or business) recipient or substantial contributor BREAST CANCER RESEARCH FOUNDATION N/A N/A SUPPORT OF 60 EAST 56TH STREET ORGANIZATION NEW YORK, NY 10022 50,000, WOMEN IN NEED N/A SUPPORT OF N/A 115 W 31ST STREET ORGANIZATION NEW YORK, NY 10001 20,000. TEAM FIGHT TO WALK N/A N/A SUPPORT OF ORGANIZATION 15 QUINTARD DR PORT CHESTER, NY 10573 5,000, AMERICAN BALLET THEATER SUPPORT OF N/A N/A 890 BROADWAY, 3RD FL ORGANIZATION NEW YORK, NY 10003 600. CT FOOD BANK N/A N/A SUPPORT OF 461 GLENBROOK ROAD ORGANIZATION STAMFORD, CT 06906 2,000. JOHNS HOPKINS DEPT OF PSYCHIATRY N/A N/A SUPPORT OF 600 N WOLFE ST ORGANIZATION

N/A

N/A

N/A

N/A

SUPPORT OF

SUPPORT OF

SUPPORT OF

SUPPORT OF

ORGANIZATION

ORGANIZATION

ORGANIZATION

ORGANIZATION

N/A

N/A

N/A

N/A

5,000.

10,000.

10,000.

500.

2,000.

170 100

BALTIMORE, MD 21287

NEIGHBOR TO NEIGHBOR

248 E PUTNAM AVENUE

GREENWICH, CT 06830

191 JORALEMON STREET

1111 E PUTNAME AVENUE

RIVERSIDE, CT 06878

SALVATION ARMY

855 ASYLUM AVENUE

HARTFORD, CT 06105

Total from continuation sheets

BROOKLYN, NY 11201

CATHOLIC CHARITIES OF BROOKLYN

GREENWICH EMERGENCY MEDICAL SERVICES

THEODORE A. RAPP FOUNDATION

Part XV Supplementary Information

**Grants and Contributions Paid During the Year (Continuation)** If recipient is an individual, Recipient Foundation Purpose of grant or show any relationship to Amount any foundation manager or substantial contributor status of contribution Name and address (home or business) recipient GREENWICH POLICE SILVER SHIELD SUPPORT OF N/A N/A ORGANIZATION ASSOCIATION 11 HAVEMEYER PL 500. GREENWICH, CT 06830 ST. JOSEPH'S INDIAN SCHOOL SUPPORT OF N/A N/A 1301 N MAIN ST DRGANIZATION CHAMBERLAIN, SD 57325 250. NATHANIEL WITHERELL N/A SUPPORT OF N/A 70 PARSONAGE RD ORGANIZATION GREENWICH CT 06830 5,000. AMERICAN MUSEUM OF NATURAL HISTORY SUPPORT OF N/A N/A ORGANIZATION CENTRAL PARK WEST & 79TH ST NEW YORK, NY 10024 4,750. N/A N/A SUPPORT OF JAMES E. MARSHALL FOUNDATION 203 LEGION STREET ORGANIZATION 5,000. VERONA WI 53593 SUPPORT OF CHANNEL THIRTEEN-NEW YORK PUBLIC N/A N/A MEDIA **DRGANIZATION** 825 8TH AVENUE 2,500. NEW YORK, NY 10019 WOUNDED WARRIOR PROJECT N/A N/A SUPPORT OF PO BOX 758517 ORGANIZATION 5,000. TOPEKA, KS 66675 N/A N/A SUPPORT OF QUEENS COLLEGE FOUNDATION 65-30 KISSENA BLVD ORGANIZATION 10,000. FLUSHING, NY 11367 COUNCIL OF FASHION DESIGNERS OF N/A N/A SUPPORT OF ORGANIZATION AMERICA FOUNDATION 65 BLEECKER ST, 11TH FL 12,000. NEW YORK, NY 10012 FRESH AIR FUND N/A N/A SUPPORT OF 633 3RD AVENUE ORGANIZATION NEW YORK, NY 10017 2,000. Total from continuation sheets

THEODORE A. RAPP FOUNDATION
Part XV | Supplementary Information

Part XV Supplementary Information				
3 Grants and Contributions Paid During the Y			<b></b>	
Recipient Name and address (home or business)	If recipient is an individual, show any relationship to any foundation manager or substantial contributor	Foundation status of	Purpose of grant or contribution	Amount
	or substantial contributor	recipient		\ <del> </del>
FASHION INSTITUTE OF TECHNOLOGY FOUNDATION	N/A	N/A	SUPPORT OF ORGANIZATION	
227 WEST 27TH STREET				
NEW YORK, NY 10001				3,000
AMERICAN ISRAEL CULTURAL FOUNDATION	N/A	N/A	SUPPORT OF	
1140 BROADWAY, STE 304		Ţ	ORGANIZATION	
NEW YORK, NY 10001				1,000,
WOMENS PROJECT & PRODUCTIONS	N/A	N/A	SUPPORT OF	
55 WEST END AVE #2			ORGANIZATION	
NEW YORK, NY 10023		<u> </u>		3,000
LINCOLN CENTER CORPORATE FUND	N/A	NI / D	SUPPORT OF	
70 LINCOLN CENTER CORPORATE FOND TO LINCOLN CENTER PLAZA, 9TH FL	N/A	N/A	ORGANIZATION	
NEW YORK, NY 10023			OKORVIZMITOK	10,000,
THE GREENWICH CAMPERSHIP FUND	N/A	N/A	SUPPORT OF	
101 FIELD POINT ROAD			ORGANIZATION	
GREENWICH, CT 06830				1,000,
				}
	-			
				1
				-
				1
		1		
Total from continuation sheets	<u> </u>			

Theodore A. Rapp Foundation June 30, 2015

OMAR AND MARGARET ADAME TTEE

24-Hour Assistance: (800) MERRILL

CORPORATE BONDS Description	Acquired	Quantity	Adjusted/Total Cost Basis	Estimated Market Price	Estimated Market Value	Unrealized Gain/(Loss) A	Unrealized Estimated Gain/(Loss) Accrued Interest	Estimated Current Annual Income Yield%	rrent 3/d%
GOLDMAN SACHS GROUP INC 02/25/1 SER NOTZ 04.250% FEB 15 2038	02/25/13 2038 38143CBM2	65,000	65,000.00	97.2440	63,208.60	(1,791.40)	115.10	<b>2,763</b> 4.37	4.37
TOTAL	2000000	65,000	65,000.00		63,208.60	(1,791.40)	115.10	2,763 437	437

Stmt 8 Corporate Bonds Please Refer to notes below for information regarding credit ratings.

<u>.</u>

007

5067



4047



May 30, 2015 - June 30, 2015

## OMAR AND MARGARET ADAME TTEE

# YOUR CMA FOR TRUST ASSETS

EQUITIES			Unit	Total	Estimated	Estimated	Unrealized	Estimated Current	urrent
Description	Symbol Acquired	Quantity	Cost Basis	Cost Basis	Market Price	Market Value	Gain/(Loss) Annual Income Yield%	nual Income	Vield%
AMERICAN INTERNATIONAL	AIG 03/28/12	1,000	30.2129	30,212.93	61.8200	61,820.00	31,607.07	200	8.
GROUP INC	04/04/12	1,000	31.6755	31,675.55	61.8200	61,820.00	30,144.45	200	8
	08/08/12	006	32.9632	29,666.92	61.8200	55,638.00	25,971.08	450	8.
Subtotal		2,900		91,555.40		179,278.00	87,722.60	1,450	.80
APPLE INC	AAPL 05/23/12	1,750	80.5360	140,938.09	125.4250	219,493.75	78,555.66	3,641	1.65
	06/04/13	1,750	65.1701	114,047.80	125.4250	219,493.75	105,445.95	3,641	1.65
	05/06/14	2,100	86.7006	182,071.39	125.4250	263,392.50	81,321.11	4,369	1.65
	06/18/14	200	92.7341	46,367.07	125.4250	62,712.50	16,345.43	1,041	1.65
Subtotal		6,100		483,424.35		765,092.50	281,668.15	12,692	1.65
BANK NEW YORK MELLON	BK 09/01/11	006	21.1777	19,059.99	41.9700	37,773.00	18,713.01	612	1.62
CORP	09/01/11	1,100	21.1744	23,291.86	41.9700	46,167.00	22,875.14	748	1.62
Subtotal		2,000		42,351.85		83,940.00	41,588.15	1,360	1.62
BANK OF AMERICA CORP	BAC 08/13/09	5,000	16.9301	84,650.88	17.0200	85,100.00	449.12	1,001	117
	08/28/09	5,000	17.9947	89,973.62	17.0200	85,100.00	(4,873.62)	1,001	1.17
Subtotal		10,000		. 174,624.50		170,200.00	(4,424.50)	2,002	1.17
BOEING COMPANY	BA 05/24/11	200	75.7811	15,156.23	138.7200	27,744.00	12,587.77	728	2.62
	05/24/11	800	75.7836	60,626.93	138.7200	110,976.00	50,349.07	2,913	2.62
	02/04/14	200	124.5824	62,291.21	138.7200	00.098,69	7,068.79	1,821	2.62
Subtotal		1,500		138,074.37		208,080.00	70,005.63	5,462	2.62
CARDINAL HEALTH INC OHIO	CAH 02/12/13	1,200	46.0715	55,285.90	83.6500	100,380.00	45,094.10	1,858	1.85
CEMEX SAB DE CV SPND ADR	CX 02/02/12	147	6.6369	975.63	9.1600	1,346.52	370.89		
	02/02/12	1,871	6.6389	12,421.52	9.1600	17,138.36	4,716.84		
	08/28/12	6,846	7.0979	48,592.88	9.1600	62,709.36	14,116.48		
Subtotal		8,864		61,990.03		81,194.24	19,204.21		
CENTENE CORP	CNC 05/02/13	2,000	23.8262	47,652.54	80.4000	160,800.00	113,147.46		
CHARLES RIVER LABS INTL	CRL 05/14/13	1,000	45.7414	45,741.44	70.3400	70,340.00	24,598.56		

OMAR AND MARGARET ADAME TTEE

YOUR CMA FOR TRUST ASSETS

24-Hour Assistance: (800) MERRILL

May 30, 2015 - June 30, 2015

									1
<b>EQUITIES</b> (continued) Description	Symbol Acquired	Quantity	Unit Cost Basis	Total Cost Basis	Estimated Market Price	Estimated Market Value	Unrealized Estimated Current Gain/(Loss) Annual Income Yield%	Estimated Current nual Income Yield%	urrent feld%
CHEVRON CORP	CVX 12/01/06	009	73.4787	44,087.24	96.4700	57,882.00	13,794.76	2,568	4.43
	10/09/01	200	93.1050	18,621.01	96.4700	19,294.00	672.99	856	4.43
	10/60/01	200	93.0883	46,544.15	96.4700	48,235.00	1,690.85	2,140	4.43
	01/28/10	650	73.6739	47,888.09	96.4700	62,705.50	14,817.41	2,782	4.43
Subtotal		1,950		157,140.49		188,116.50	30,976.01	8,346	4.43
CITIGROUP INC COM NEW	C 11/26/08	370	65.6187	24,278.94	55.2400	20,438.80	(3,840.14)	75	.36
	11/26/08	8	65.5793	1,967.38	55.2400	1,657.20	(310.18)	9	36
	07/13/09	200	27.2069	13,603.48	55.2400	27,620.00	14,016.52	101	.36
	08/28/09	1,000	51.9056	51,905.67	55.2400	55,240.00	3,334.33	201	36
	03/10/10	1,100	40.5393	44,593.27	55.2400	60,764.00	16,170.73	221	36
Subtotal		3,000		136,348.74		165,720.00	29,371.26	604	.36
CORNING INC	GLW 01/13/14	3,000	18.4479	55,343.85	19.7300	59,190.00	3,846.15	1,440	2.43
DARLING INGREDIENTS INC	DAR 02/09/11	351	14.7812	5,188.22	14.6600	5,145.66	(42.56)		
	02/09/11	149	14.7760	2,201.63	14.6600	2,184.34	(17.29)		
Subtotal		200		7,389.85		7,330.00	(59.85)		
EBAY INC COM	EBAY 12/12/12	000	52.7409	31,644.55	60.2400	36,144.00	4,499.45		
	01/23/14	006	55.6925	50,123.28	60.2400	54,216.00	4,092.72		
Subtotal		1,500		81,767.83		90,360.00	8,592.17		
FACEBOOK INC CLASS A COMMON STOCK	FB 04/29/15	200	81.0633	40,531.65	85.7650	42,882.50	2,350.85		
FORD MOTOR CO	F07/24/13	5,000	17.5463	87,731.95	15.0100	75,050.00	(12,681.95)	3,000	3.99
FRONTIER COMMUNICATIONS CORP	FTR 01/20/09	120	7.1068	852.82	4.9500	594.00	(258.82)	51	8.48
GENERAL ELECTRIC	GE 06/19/07	1,000	39.6638	39,663.88	26.5700	26,570.00	(13,093.88)	921	3.46
	70/11/00	1,000	40.6179	40,617.95	26.5700	26,570.00	(14,047.95)	921	3.46
	60/06/10	5,000	13.1641	65,820.94	26.5700	132,850.00	67,029.06	4,601	3.46
	60/11/60	3,000	17.1573	51,471.98	26.5700	79,710.00	28,238.02	2,761	3.46
Subtotal		10,000		197,574.75		265,700.00	68,125.25	9,204	3.46



May 30, 2015 - June 30, 2015

## OMAR AND MARGARET ADAME TTEE

## YOUR CMA FOR TRUST ASSETS

<b>EQUITIES</b> (continued) Description	Symbol Acquired	Quantity	Unit Cost Basis	Total Cost Basis	Estimated Market Price	Estimated Market Value	Unrealized Estimated Current Gain/(Loss) Annual Income Yield%	Estimated Current ual Income Yield%	Jurrent Yield%
GOLDCORP INC	6G 05/06/08	400	38.2169	15,286.76	16.2000	6,480.00	(8,806.76)	240	3.70
HALLIBURTON COMPANY	HAL 05/14/13	1,000	44.4995	44,499.51	43.0700	43,070.00	(1,429.51)	720	167
HARTFORD FINL SVCS GROUP	HIG 08/21/12	2,000	18.8154	37,630.84	41.5700	83,140.00	45,509.16	1,440	173
HCA HOLDINGS INC SHS	HCA 07/10/13	1,000	37.5156	37,515.64	90.7200	90,720.00	53,204.36	:	
HEADWATERS INC DEL	HW 06/12/14	2,000	14.2637	28,527.49	18.2200	36,440.00	7,912.51		
HONEYWELL INTL INC DEL	HON 07/13/11	1,000	58.5413	58,541.31	101,9700	101,970.00	43,428.69	2,070	2.03
JPMORGAN CHASE & CO	JPM 11/26/13	1,000	57.8083	57,808.34	67.7600	67,760.00	9,951.66	1,760	2.59
KKR & CO L P DEL	KKR 05/09/11	1,300			22.8500	29,705.00	6,154.89	2,509	8.44
	05/09/11	700			22.8500	15,995.00	3,310.05	1,351	8.44
Subtotal		2,000		51, GGO. 0G	,	45,700.00	9,464.94	3,860	8.44
MALLINCKRODT PLC SHS	MNK 01/25/12	50	34.5538	1,727.69	117.7200	5,886.00	4,158.31		
	01/25/12	12	34.5500	414.60	117.7200	1,412.64	998.04		
Subtotal		3		2,142.29		7,298.64	5,156.35		
MEDTRONIC PLC SHS	MDT 01/28/15	1,000	76.9500	76,950.00	74.1000	74,100.00	(2,850.00)	1,521	2.05
MERCK AND CO INC SHS	MRK 01/20/09	200	29.1508	14,575.42	56.9300	28,465.00	13,889.58	901	3.16
NOAH HOLDINGS LTD ADR	NOAH 11/21/13	700	21.1415	14,799.09	30.2300	21,161.00	6,361.91	<b>89</b>	66.
PEPSICO INC	PEP 12/01/06	009	62.2306	37,338.41	93.3400	56,004.00	18,665.59	1,686	3.01
RITE AID CORPORATION	RAD 06/12/14	10,000	7.6134	76,134.33	8.3500	83,500.00	7,365.67		
SEADRILL LTD	SDRL 01/31/12	200	37.5830	18,791.50	10.3400	5,170.00	(13,621.50)		
	08/29/13	200	46.5719	23,285.97	10.3400	5,170.00	(18,115.97)		
Subtotal		1,000		42,077.47		10,340.00	(31,737.47)		ļ
TENET HEALTHCARE CORP	THC 10/09/13 06/18/14	1,000	46.1476 47.8001	46,147.67 47 800 18	57.8800	57,880.00	11,732.33		
Subtotal		2,000		93,947.85		115,760.00	21,812.15		

6.4/C

נטכו

ı	_
	1
١	
i	
1	ë
:	4
(	=
- 2	d
ŀ	
ļ	1
- [	ľ
7	7
ì	¥
-	ď
1	5
7	_
5	5
:	7
,	_
Ļ	÷
3	ŝ
7	5
١	_

24-Hour Assistance: (800) MERRILL

<b>ASSETS</b>
R TRUST A
CMA FOR
YOUR

YOUR CMA FOR TRUST ASSETS	IST ASSETS						May 30, 20:	May 30, 2015 - June 30, 2015	2015
EQUITIES (continued) Description	Symbol Acquired	Quantity	Unit Cost Basis	Total Cost Basis	Estimated Market Price	Estimated Market Value	Unrealized Estimated Current Gain/(Loss) Annual Income Yield%	Estimated Current	urrent field%
TRANSCANADA CORP	TRP 01/07/10	200	34.1080	17,054.00	40.6200	20,310.00	3,256.00	607	3.49
	01/07/10	1,600	34.1179	54,588.79	40.6200	64,992.00	10,403.21	2,269	3.49
	01/07/10	006 6	34.1235	30,711.18	40.6200	36,558.00	5,846.82	1,277	3.49
Subtotal		3,000		102,353.97		121,860.00	19,506.03	4,255	3.49
TRANSOCEAN LTD	RIG 02/29/12	1,000	54.6987	54,698.74	16.1200	16,120.00	(38,578.74)	900	3.72
TRAVELCENTERS AMER LLC	TA 02/06/07	20	32.3350	. 1,616.75	14.8500	742.50	(874.25)		
VCAINC	WOOF 05/08/13	2,000	24.4518	48,903.60	54.4050	108,810.00	59,906.40		
VERIZON COMMUNICATINS COM	VZ 01/20/09	200	28.7714	14,385.74	46 6100	23,305.00	8,919.26	1,100 4.72	4.72
TOTAL			)	C 2,816,775.92		3,856,993.88	1,055,642.96	67,707	1.76

Market Value

3 4, 287, 117.99

Corporate Stark (1) 3,248,262,18

Cost

罝	
DAME	
RET /	
MARG/	
R AND	
OMA	

24-Hour Assistance: (800) MERRILL

S
$\approx$
رب
S
V
<u> </u>
Ų,
$\supset$
~
$\overline{a}$
$\sim$
4
<b>T</b>
2
()
$\overline{}$
C
5
$\approx$
$\mathcal{L}$

						ماء	1 36.36 () 431,486.26		
2.46	10,593	12,883		(1,339.42)	430,124.11	<b>@</b>	431,459.46		TOTAL
					ı			-	Subtotal (Equities)
								iai rutorasc. 14/00/14	
								Initial Purchase·12/05/14	APPRECIATION ETF SYMBOI - VIG
2.22	4,251	(9,244)	200,193	(9,244.28)	190,949.40	78.5800	200,193.68	2,430	VANGUARD DIVIDEND
				.,				Initial Purchase:12/05/14	SYMBOL: XLI Init Equity 100%
2.05	1,934	(6,520)	100,584	(6,520.05)	94,064.40	54.0600	100,584.45	1,740	SECTOR SPDR INDUSTRIAL
7.58	1			N/A	4.07	18.4500	N/A		.2207 Fractional Share
7.58	٩			(0:30)	13.79	18.4500	14.09		.7474 Fractional Share
					1			Initial Purchase:01/25/07	SYMBOL: QQQX Init Equity 100%
7.58	3,051	24,221	15,981	9,998.44	40,202.55	18.4500	30,204.11	l 2,179 ID	NUVEEN NASDAQ 100 DYNAMI OVERWRITE CLOSED END
		: : :							Equity 100%
								Initial Purchase:12/05/14	SYMBOL: XLV Initi
129	1,354	4,426	100,463	4,426.77	104,889.90	74.3900	100,463.13	1,410	HEALTH CARE SELECT SPDR
Yield%	Income Yield%	Return (\$)	Investment	Gain/(Loss)	Market Value	Market Price	Cost Basis	Quantity	Description
Surrent	Estimated Annual Current	Cumulative Investment	Total Client	Unrealized	Estimated	Estimated	Total	) FUNDS/UIT	MUTUAL FUNDS/CLOSED END FUNDS/UIT
, 2015	May 30, 2015 - June 30, 2015	May 30, 20	:		1			IRUSI ASSEIS	TOUR CIMA FOR TRUST ASSETS